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Exact distribution theory for orthogonal
least-squares estimators is quite difficult

(this is a special case of principal components

estimation).

asymptotic normal distributions.
fact and using a consistent estimator for the
variance, approximate confidence intervals can

be obtained.

tervals.

In general the estimators have

Using this

An alternative is to use the
Jackknife technique to obtain confidence in-

A Monte Carlo study shows that even

for small samples the two procedures tend to
give similar results.
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